
making everyday smoother 1
1 V 04

Caddy LWB Maxi 2004-current 735105090962 V 04

For kit numbers:

1050909220 --Volkswagen Caddy LWB Maxi 2004-current

VOLKSWAGEN
Caddy LWB Maxi 2004-current



making everyday smoother2
2 V 04

Original parts from the vehicle

Item Qty. Description

S5 2 Original clamping plate

1

3

2

6

7

4

9

17
14

8

14

21

13 13

12

19

S5

18

17

20

22

10

11

9
16

S5

16

6

7

20

23

15

15

24

24

25

26

26

Caddy Maxi LWB 2004-current VB-FullAir - Rear axle



making everyday smoother 3
3 V 04

Item Qty. Description Part number

1 1 Upper mounting bracket right

2 1 Upper mounting bracket left

3 1 Link arm

4 1 Distance washer

6 2 Main spring

7 2 Upper clamping plate

8 1 Panhard rod (with rubber bush)

9 2 Lower clamping plate

10 1 Compressor box protection cover

11 1 Compressor box

12 1 Compressor box bracket

13 2 Air spring

14 2 Height sensor

15 2 Piston

16 2 Shock absorber

17 2 Height sensor rod

18 1 Upper air spring plate left

19 1 Upper air spring plate right

20 2 Bump stop

21 1 Panhard rod ball joint bracket

22 1 Panhard rod bracket

23 1 Panhard rod ball joint

24 2 Filling plate

25 1 Heat shield

26 2 Air coupling

1052040157

1052040158

1052060208

1052025723

1052011720

1052020009

1052060072

1052020008

1052131123

1052130128

1052131118

1052032531

1052090150

1052030125

1052104087A

1052095061A

1052030180

1052030179

1052151270

1052060073

1052060074

1052061415

1052030185

1052350085

0020000015

VOLKSWAGEN
Caddy LWB Maxi 2004-current



making everyday smoother4
4 V 04

Exploded view not available

Caddy Maxi LWB 2004-current VB-FullAir - Rear axle



making everyday smoother 5
5 V 04

Item Qty. Description Part number

- 2 Allen screw M8x25 8.8 0010308025AA

- 8 Bolt M10x30 10.9 0010110030CA

- 2 Bolt M10x75 10.9 0010110075CA

- 8 Bolt M12x160 10.9 0010112160CA

- 2 Bolt M12x25 8.8 0010112025AA

- 2 Bolt M12x80 10.9 0010112080CA

- 1 Bolt M12x90 10.9 0010112090CA

- 4 Bolt M5x10 8.8 0010105010AA

- 4 Bolt M6x12 8.8 0010106012AA

- 2 Countersunk Allen screw M10x90 8.8 0010510090AA

- 2 Lock nut M10 0011010001CA

- 13 Lock nut M12 0011012001CA

- 7 Lock nut M6 staal 0011006001AA

- 2 Sheet-metal screw 4.8x16 0012748160 

- 7 Tie-wrap 4.6x200 fir tree Ø6.5mm H=7.5mm 0030225105 

- 13 Washer M10 300HV 0011210000AA

- 24 Washer M12 300HV 0011212000AA

- 4 Washer M5 300HV 0011205000AA

- 4 Washer M6 300HV 0011206000AA

- 2 Washer M8 300HV 0011208000AA

VOLKSWAGEN
Caddy LWB Maxi 2004-current



making everyday smoother6
6 V 04

A

C

B

F

D

E

Caddy Maxi LWB 2004-current VB-FullAir - Compressor box



making everyday smoother 7
7 V 04

Item Qty. Description Part number

A 1 Compressor bracket

B 1 VB-ASCU (without software)

C 1 Relay

D 1 Compressor

E 1 Valve block bracket

F 1 Valve block

- 1 Wiring harness

- 1 Supply cable

1052131116

1052122010

0030500007A

1052111100

1052131117

1052250671

1052201164

1052201178

VOLKSWAGEN
Caddy LWB Maxi 2004-current



making everyday smoother8
8 V 04

H
G

Caddy Maxi LWB 2004-current VB-FullAir - Panhard rod



making everyday smoother 9
9 V 04

Item Qty. Description Part number

G 1 Panhard rod ball joint

H 1 Rubber bush

1052061415

1052065021

VOLKSWAGEN
Caddy LWB Maxi 2004-current



10 V 04



11 V 04



INCREASED COMFORT, BETTER DRIVEABILITY, MORE SAFETY.

VB-AIRSUSPENSION, 




